SAP ABAP table ICL BS MULT B {Generated Table for View}
ICL BS_MULT B-CITY = ADRCITY-CITY CODE ADRCITY

0..N [CLIENT [CLNT (3)]
COUNTRY [CHAR (3)]
CITY_CODE [CHAR (12)]

- —_— -
- -

0.N TOOO
MANDT [CLNT (3)]

_____________________________ T002
SPRAS [LANG (1)]

TOOS5
_________ 0-N |MANDT [CLNT (3)]
LAND1 [CHAR (3)]

TOOSE
MANDT [CLNT (3)]
LANDI [CHAR (3)]
REGIO [CHAR (3)]
COUNC [CHAR (3)]

--0.N

TOO5S
MANDT [CLNT (3)]
LAND1 [CHAR (3)]
BLAND [CHAR (3)]

_--0.N

TICLOO1

CLIENT [CLNT (3)]
CCTYPE [CHAR (2)]

TICLOO2
0..N | CLIENT [CLNT (3)]
CCTYPE [CHAR (2)]
SUBTYPE [CHAR (2)]

TICL140

CLIENT [CLNT (3)]
STATUS [CHAR (2)]

= — -

TICL177

CLIENT [CLNT (3)]

______________ CCTYPE [CHAR (2)]

SUBTYPE [CHAR (2)]

CCSBRTYPE [CHAR (2)]

TICL301
CLIENT [CLNT (3)]
ROLE [CHAR (4)]

TICL570

CLIENT [CLNT (3)]
s Pt 0-N [TYPE [CHAR (2)]

_ USRO02
0..N 'MANDT [CLNT (3)]
BNAME [CHAR (12)]




